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a1) P+ + P− = I, ‖P+‖ = ‖P−‖ = 1;
a2) L(P+H) = P+H, L(P−H) ⊂ P−H ;
a3) ‖Lv‖ ≥ µ+‖v‖, ∀v ∈ P+H, µ+ = 1 + δ+ ≥ 1;
a4) ‖Lw‖ ≤ µ−‖w‖, ∀w ∈ P−H, µ− = 1 − δ− ≤ 1;
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max{‖u1‖, ‖u2‖}
)

‖u1 − u2‖, ∀ui ∈ H

_




 5 1 � � 1 � < � 5 � D � � 3 �̀ 	 6 1 3 4 5 � D 5 1 � I < � � t X 1 D B � 5 � 2 	 1 D θ(·) P

θ(0) = 0, max
u∈O

θ(‖u‖) = θ̄ < 1/2.

L A � 5 5 < � 5 1 � � � 1 5 
 6 � � � v, w, ui

; � � � 	 E � � 3 4 5 < 1 s 3 1 ? 1 5 6 < 5 1 � � 6 � � � D� � � 1 
 6 5 � 
 6 	 5 � 3 > O ⊂ H R � 5 � 6 � 	 � � 6 � � � D � 1 A � 6 
 > � 
 1 � � 
 3 1 A � t X 	 1� � 
 
 �̀ A 1 5 	 >9 V � � 	 T 1 ? � � 1 � � 6 � � S(u) = Lu + R(u) A 3 > u = v + w R

v ∈ P+O R w ∈ P−O R � � 	 A 1 S(u) = S+(u)+S−(u) R S A 1 S±(u) = P±S(u) R

L± · = P±L · R R±(·) = P±R(·)9O 
 5 � � 5 < ? 	 � I Á 1 � 6 � ? 	 	 
 
 3 1 A � � � 5 	 > � � 1 � � � D S 3 � � 1 > � 3 > t 6 
 >

� 
 6 � D = 	 � � 1 ? 5 � S � � I � � E 	 1 W− = W−(S,O) R 69 59 ² � � � A > X 	 D � 
 C A � Q? � � � ² R � � A ? 5 �̀ 1 
 6 � � O P

W−(S,O) = {m0 ∈ O : ∃mi+1 ∈ O,mi+1 = S(mi), i = 0, 1, 2, ..} ,	 5 1 � 
 6 � D = 	 � � 1 ? 5 � S � � I � � E 	 1 W+ = W+(S,O) R 	 3 	 ² 	 
 � � A > X 	 D � 
C A � ? � � � ² P

W+(S,O) = {m0 ∈ O : ∃mi+1 ∈ O,mi = S(mi+1), i = 0, 1, 2, ..} .W 
 3 	 � � 
 3 � � 	 > � (a3) R (a4)

5 � � ? � � � 1 � � 6 � � � L � 6 A 1 3 1 5 � � 6 1 A 	 5 	 Q2 < q 69 19 µ+, µ− 6= 1

r R 6 � 6 � = � � 0 5 � E < � � 1 6 
 > S 	 � 1 � I � 3 	 = 1 
 � � D R 	 5 � = 1Â 5 1 S 	 � 1 � I � 3 	 = 1 
 � � D9 0 � S 3 � 
 5 � 6 1 � � 1 ? 1 C A � ? � � � ;̂ 1 � � � 5 � � 5 1 � � 6 � Q� � D � � � 1 
 6 5 � 
 6 	 S 	 � 1 � I � 3 	 = 1 
 � � D 6 � = � 	 
 � X 1 
 6 � � t 6 � 
 6 � D = 	 � � 1W−

	 5 1 � 
 6 � D = 	 � � 1 W+ ? 5 � S � � I � � E 	 >9 ¡ � = � � z0 I � A 1 ? 5 � E < � � 6 4 
 1 A 3 � Q� � D R 1 
 3 	 � 5 1 � � 6 � � � D � � � 1 
 6 5 � 
 6 	 O 
 � X 1 
 6 � � t 6 ? 5 � S � � I � � E 	 >W± R69 19 � � = 1 
 6 � 1 5 5 � > � � � 6 	 5 � A 	 5 � ? 	 � 	 I 3 	 E � 	 � � z0 6 � � 1 � 6 � � 	 D 5 � � � Q? 	 5 � 1 6 A � 	̀ 1 5 	 1 � � � � 1 
 6 5 � 
 6 	 
 1 A 3 �9L ° g £ g ¾ £ g ¿ m À p Ã � � 3 � = 1 5 < A � 
 6 � 6 � = 5 < 1 � 
 3 � � 	 > 
 � X 1 
 6 � � � � Q5 	 > � 
 6 � D = 	 � � S � 	 5 1 � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 D � � � � 1 
 6 5 � 
 6 	 
 � X 1 Q
 6 � 1 5 5 � 5 1 S 	 � 1 � I � 3 	 = 1 
 � � D 5 1 � � A � 	̀ 5 � D 6 � = � 	9 0 � � 6 � 1 6 
 6 � � t X 	 1

� 1 E � 3 4 6 � 6 < � � 3 � = 1 5 < 5 � � 
 5 � � 1 ? 1 6 � A � 
 3 � I � 
̀ 	 ? � t X 	 � � 6 � I � � Q1̀ 5 	 D9O 6 � I � �̀ 1 5 	 1 F ? 1 6 � 	 = 1 
 � � S � � � � 
 6 � � 5 
 6 � � U � 
 1 I > I � A 1 ? 5 � QE < � � 6 4 
 3 � I � 
̀ 	 ? � t X 	 ? � 6 � I � �̀ 1 5 	 1 ? q � 6 � I � �̀ 1 5 	 1 ? � � 3 	 5 � ? 	 Q� 3 4 5 � S � 
̀ � 6 	 > r R 1 
 3 	 
 � X 1 
 6 � � t 6 6 � � 	 1 = 	 
 3 � α > 0 R p ≥ 1 R = 6 � A 3 >3 t I < � A � � � 6 � = 1 � u1, u2 ∈ U � < � � 3 5 > 1 6 
 > 5 1 � � � 1 5 
 6 � � P

ρ(F (u1), F (u2)) ≤
ρ(u1, u2)

(1 + αρp(u1, u2))1/p
.

q 89 8 r

Ä m k £ m n g À p À p Å Æ Ç È É Ê Æ Ë Ì Í É Æ Î Ï Ð Ì Ñ Ò Ê Ê É Ó É Í Ô Ì Î Ê Õ Ï Ê Ö É × Ô Ê Ø Ê Ë Ê Õ ÙÕ É Ê Ú × É Ë Õ É Ð Ð Ê Ó Ô Ï Û Ê Æ È É Ð × Ô É Æ Ó Ô Ì Õ Æ Ó Ú Ê Ö Ï Ð Ê Ê Ó Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ Ü Ñ Õ Ê × É Ù

]

Ø Ú Ï Î Õ Ü Ñ Ó É Û È Ü Ý F (u) = u.

Þ Ó Ê Ô Ì ß Ï É Õ Õ à á × Ô É ß Ê Æ Æ un+1 = F (un)Æ â É Ø Ï Ó Æ Ç È Õ Ê × É Ø Ú Ï Î Õ É á Ó É Û È Ê Æ Ë Ñ Í É ã É Õ Ì Û Ì Ë ä Õ É ã É × Ô Ï Í Ë Ï Î Ê ÙÕ Ï Ç u0 Ö × Ô Ï å Ó É Ð Ú à × É Ë Õ Ç Ê Ó Æ Ç Æ Ë Ê Ø Ü Ñ Ò Ì Ç É ß Ê Õ È Ì Ý ρ(u, Fn(u0)) ≤
ρ(u, u0)

(1 + nαρp(u, u0))1/p
.

L � � E A 1 3 � � 89 @9 8 R 89 @9 @ � � 	 � � A > 6 
 > 	 E � 1 
 6 5 < 1 � 1 E � 3 4 6 � 6 < q 6 1 � � 1 Q? � C A � ? � � � Q̂ 1 � � � 5 � r � 
 � X 1 
 6 � � � � 5 	 	 � 
 6 � D = 	 � � S � 	 5 1 � 
 6 � D = 	 � � S �? 5 � S � � I � � E 	 D � � � � 1 
 6 5 � 
 6 	 S 	 � 1 � I � 3 	 = 1 
 � � D 6 � = � 	9L � � E A 1 3 1 89 @9 a � � 3 � = 1 5 � � I � I X 1 5 	 1 6 1 � � 1 ? < C A � ? � � � ;̂ 1 � � � 5 �� 
 � X 1 
 6 � � � � 5 	 	 � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 > � � � � 1 
 6 5 � 
 6 	 
 1 A 3 � � � D

6 � = � 	9 L < I 1 � 1 ? 0 < r < ∞ R 0 ≤ γ < ∞ 	 � � � 1 A 1 3 	 ? � � � 1 
 6 Q5 � 
 6 4 O = {u = v + w : ‖w‖ ≤ r, ‖v‖ ≤ γr}.

K 
 6 � D = 	 � � 1 ? 5 � QS � � I � � E 	 1 I � A 1 ? 
 6 � � 	 6 4 � � 3 � 
 
 1 Bγ (O) � 
 1 � 5 1 � � 1 � < � 5 < � � 6 � I Q� �̀ 1 5 	 D f(w) : P−O → P+O R � A � � 3 1 6 � � � > t X 	 � � 
 3 � � 	 > ? P f(0) =
0, ‖f(w1) − f(w2)‖ ≤ γ‖w1 − w2‖.U � 3 1 1 I � A 1 ? 6 � �̀ 1 
 = 	 6 � 6 4 R = 6 �

a6)

O � 1 � � 6 � � < S−(w + f(w)) : P−O → P−O R ∀f ∈ Bγ (O) 	

S−1
+ (w + v) : P+O → P+O R ∀w ∈ P−O

> � 3 > t 6 
 > � � � 3 5 1 5 1 � � 1 � < � 5 < Q? 	9 U � 5 5 � 1 6 � 1 I � � � 5 	 1 > � 3 > 1 6 
 > 1 
 6 1 
 6 � 1 5 5 < ? 	 � < � � 3 5 > 1 6 
 > A 3 >

� 
 1 � � � 
 
 ? � 6 � 	 � � 1 ? < � A � 3 1 1 E � A � =9 N ? 1 1 6 ? 1 
 6 � 
 3 1 A � t X � > 6 1 � � 1 ? �
 � X 1 
 6 � � � � 5 	 > � � 3 � 
 
 1 Bγ (O) � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 > � � � � 1 
 6 Q5 � 
 6 	 5 1 S 	 � 1 � I � 3 	 = 1 
 � � D 6 � = � 	9

Ä m k £ m n g À p Ã p æ Ü Æ Ó ä É Ó É Í Ô Ì Î Ê Õ Ï Ê S(·) Ú O Ü Ø É Ú Ë Ê Ó Ú É Ô Ç Ê Ó Ü Æ Ë É Ú Ï ÙÇ Ð (a) ç æ Ü Æ Ó ä 0 < r <∞ Ö 0 ≤ γ <∞ Ó Ì È Ï Ê Ö Û Ó É θ(2r(γ + 1)) ≤ 1/2 çæ Ô Ï å Ó É Ð Ø Ë Ç ∀w, w̃ ∈ P−O Ö ∀v, ṽ ∈ P+O

Ï × Ô É Ï è Ú É Ë ä Õ à â é Ü Õ È ß Ï á

f, f̃ ∈ Bγ(O) Ï Ð Ê Ñ Ó Ð Ê Æ Ó É Æ Ë Ê Ø Ü Ñ Ò Ï Ê É ß Ê Õ È Ï (c) Ý

c1) ‖S−(f(w) + w) − S−(f(w̃) + w̃)‖ +
1

γ
‖S+(v + w) − S+(v + w̃)‖

≤ ‖w − w̃‖,

c2) ‖S+(v + w) − S+(ṽ + w)‖ ≥ ‖v − ṽ‖.ê É ã Ø Ìëç ì Ü Ò Ê Æ Ó Ú Ü Ê Ó Ð Õ É ã É É Í Ô Ì è Ï Ê W− = {f(w) + w,w ∈ P−O} è Ì Ø Ì ÙÚ Ì Ê Ð É Ê é Ü Õ È ß Ï Ê á f : P−O → P+O

Ï è Bγ(O) ç
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í ç î Õ É ã É É Í Ô Ì è Ï Ê Ç Ú Ë Ç Ê Ó Æ Ç Ï Õ Ú Ì Ô Ï Ì Õ Ó Õ à Ð Ð Õ É Î Ê Æ Ó Ú É Ð S(W−) =
W− Ö × Ô Ï å Ó É Ð Sn(m) ⊂ O Ö ï ð ëÖ í Ö ç ç ç Ø Ë Ç ∀m ∈ W− çñ Æ Ë Ï Î Ê Ø É × É Ë Õ Ï Ó Ê Ë ä Õ É Ï Ð Ê Ñ Ó Ð Ê Æ Ó É É ß Ê Õ È Ï

c31) ‖S−(f(w) + w)‖ ≤ ‖w‖(1 − β‖w‖p), β > 0, p ≥ 1,

c32) ‖S+(f(w) + w) − S+(f̃(w) + w)‖−

γ‖S−(f(w) + w) − S−(f̃(w) + w)‖ ≥ ‖f(w) − f̃(w)‖,Ó É ã Ø Ìòç î Õ É ã É É Í Ô Ì è Ï Ê W− É × Ô Ê Ø Ê Ë Ç Ê Ó Æ Ç É Ø Õ É è Õ Ì Û Õ É ç

´ h m ¦ l ë § m À p À p æ Ü Æ Ó ä Ú × Ô Ê Ø × É Ë É Î Ê Õ Ï Ç â Ó Ê É Ô Ê Ð à ëç í Ø Ë Ç É × Ê Ô Ì ÙÓ É Ô Ì S(·) Ú à × É Ë Õ Ç Ê Ó Æ Ç Æ Ë Ê Ø Ü Ñ Ò Ê Ê Õ Ê Ô Ì Ú Ê Õ Æ Ó Ú É

c4) ‖S−(f(w) + w)‖ ≤ ‖w‖(1 − β‖w‖p), β > 0, p ≥ 1.ê É ã Ø Ì Ø Ë Ç Ë Ñ Í É ã É m ∈ W− Ó Ô Ì Ê È Ó É Ô Ï Ç Sn(m) → 0 × Ô Ï n→ ∞ ç

L � � E A 1 3 1 89 @9 \ � � 3 � = 1 5 � � I � I X 1 5 	 1 6 1 � � 1 ? < C A � ? � � � ;̂ 1 � � � 5 � �
 � X 1 
 6 � � � � 5 	 	 5 1 � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 > � � � � 1 
 6 5 � 
 6 	 
 1 A 3 � � � D

6 � = � 	9 L < I 1 � 1 ? 0 < r < ∞ R 0 ≤ γ < ∞ R � � � 1 A 1 3 	 ? O = {u =
v + w : ‖v‖ ≤ r, ‖w‖ ≤ γr}.

N 
 � � ? � 1 ? 5 � S � � I � � E 	 1 I � A 1 ? 	 
 � � 6 4 �

� 3 � 
 
 1 Aγ (O) � 
 1 � 5 1 � � 1 � < � 5 < � � 6 � I � �̀ 1 5 	 D g(v) : P+O → P−O R� A � � 3 1 6 � � � > t X 	 � � 
 3 � � 	 > ? P g(0) = 0, ‖g(v1) − g(v2)‖ ≤ γ‖v1 −
v2‖.

L 
 3 � = � 1 u = v + g(v) � � 1 � � 6 � � S±(u) A � 3 1 1 I � A 1 ? � I � E 5 � = � 6 4


 3 1 A � t X 	 ? � I � � E � ? P S±(v + g(v)) = S±,g(v)9N ? 1 1 6 ? 1 
 6 � 
 3 1 A � t X � > 6 1 � � 1 ? � � 
 � X 1 
 6 � � � � 5 	 	 � � 3 � 
 
 1 Aγ (O)5 1 � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 > � � � � 1 
 6 5 � 
 6 	 5 1 S 	 � 1 � I � 3 	 = 1 
 � � D 6 � = Q� 	 	 
 3 � I � S � � � 	 6 >̀ 1 5 	 > � 5 1 ? � � � � 	 E � � 3 4 5 � D 6 � � 1 � 6 � � 	 	9

Ä m k £ m n g À p ó p æ Ü Æ Ó ä É Ó É Í Ô Ì Î Ê Õ Ï Ê S(·) Ú É È Ô Ê Æ Ó Õ É Æ Ó Ï O′ Ü Ø É Ú Ë Ê ÙÓ Ú É Ô Ç Ê Ó Ü Æ Ë É Ú Ï Ç Ð (a) ç æ Ü Æ Ó ä Ø Ë Ç 0 < r <∞ Ö 0 ≤ γ < ∞ Õ Ì á Ø Ü Ó Æ Ç

Û Ï Æ Ë Ì α > 0, p ≥ 1 Ó Ì È Ï Ê Ö Û Ó É Ø Ë Ç ∀v, ṽ ∈ P+O
′ Ï × Ô É Ï è Ú É Ë ä Õ à âé Ü Õ È ß Ï á g, g̃ ∈ Aγ(O′) Ú à × É Ë Õ Ê Õ à Æ Ë Ê Ø Ü Ñ Ò Ï Ê É ß Ê Õ È Ï Ý

b1) ‖S−,g(v) − S−,g̃(v)‖ + γ‖S+,g(v) − S+,g̃(v)‖ ≤

≤
(

1 − α‖g(v) − g̃(v)‖p
)

‖g(v) − g̃(v)‖, 1 − 2αγrp > 0,

b2) ‖S−,g(v) − S−,g(ṽ)‖ ≤ γC‖v − ṽ‖,
b3) ‖S+,g(v) − S+,g(ṽ)‖ ≥ C‖v − ṽ‖, C ≥ 1.ê É ã Ø Ìëç Å Õ Ê È É Ó É Ô É á É È Ô Ê Æ Ó Õ É Æ Ó Ï O Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó Õ Ê Ü Æ Ó É á Û Ï Ú É Ê Ð Õ É Ùã É É Í Ô Ì è Ï Ê W+ Ö è Ì Ø Ì Ú Ì Ê Ð É Ê é Ü Õ È ß Ï Ê á g : P+H → P−H Ö × Ô Ï Õ Ì Ø Ë Ê Î Ì Ù
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Ò Ê á È Ë Ì Æ Æ Ü Aγ(O) Ö Ó ç Ê ç W+ = {v + g(v), v ∈ P+H} çí ç ô Ì Õ Õ É Ê Ð Õ É ã É É Í Ô Ì è Ï Ê Ë É È Ì Ë ä Õ É Ï Õ Ú Ì Ô Ï Ì Õ Ó Õ É É Ó Õ É Æ Ï Ó Ê Ë ä Õ É É × Ê ÙÔ Ì Ó É Ô Ì S ç õ Ì Ð Õ É ã É É Í Ô Ì è Ï Ï É × Ô Ê Ø Ê Ë Ê Õ à É Í Ô Ì Ó Õ à Ê Æ Ó Ê × Ê Õ Ï É × Ê Ô Ì Ó É ÙÔ Ì S−i Ö Ó ç Ê ç Ø Ë Ç × Ô É Ï è Ú É Ë ä Õ É ã É m ∈ W+ Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó S−i(m), i =
1, 2, ... Ö × Ô Ï å Ó É Ð S−i(m) ⊂ O çòç Å É È Ô Ê Æ Ó Õ É Æ Ó Ï O × Ô É Ï è Ú É Ë ä Õ Ì Ç Ó É Û È Ì u × Ô Ï Ó Ç ã Ï Ú Ì Ê Ó Æ Ç È

Ð Õ É ã É É Í Ô Ì è Ï Ñ W+ Æ × É Ë Ï Õ É Ð Ï Ì Ë ä Õ É á Æ È É Ô É Æ Ó ä Ñ Ý

dist(Si(u),W+) ≤
2rγ

(1 + iα(2rγ)p)1/p
, Ê Æ Ë Ï Sk(u) ∈ O, 0 ≤ k ≤ i.

�̂ > ? < ? 
 3 1 A 
 6 � 	 1 ? 6 1 � � 1 ? < > � 3 > 1 6 
 >

ö m n n g À p À p æ Ü Æ Ó ä Ú Ü Æ Ë É Ú Ï Ç â Ó Ê É Ô Ê Ð à ëç ò É × Ê Ô Ì Ó É Ô S+,g(v)

Ç Ú Ë Ç ÙÊ Ó Æ Ç Æ Ë Ì Í É Ô Ì Æ Ó Ç ã Ï Ú Ì Ñ Ò Ï Ð Ø Ë Ç ∀v ∈ O Ý

b4) ‖S+,g(v)‖ ≥
(

1 + β‖v‖q
)

‖v‖ β > 0, q ≥ 1.

ê É ã Ø Ì Õ Ì á Ø Ê Ó Æ Ç Ó Ì È Ì Ç × É Ø É È Ô Ê Æ Ó Õ É Æ Ó ä Õ ⊂ O Ï Ó Ì È É Ê β̃ > 0 Ö Û Ó ÉØ Ë Ç × Ô É Ï è Ú É Ë ä Õ É ã É m ∈ W+ Ï Ð Ê Ñ Ó Ð Ê Æ Ó É É ß Ê Õ È Ï Ý

‖Si
+(m)‖ ≥

‖v‖

(1 − iβ̃‖v‖q)1/q
, Ê Æ Ë Ï Sk(m) ∈ O, 0 ≤ k ≤ i,

‖S−i
+ (m)‖ ≤

r

(1 + iβ̃rq)1/q
, i = 1, 2, ... ,

‖S−i(m)‖ → 0 × Ô Ï i→ ∞.

L ° g £ g ¾ £ g ¿ m À p ó � � 3 � = 1 5 � � I � I X 1 5 	 1 6 1 � � 	 	 � 
 6 � D = 	 � < � 	 5 1 Q� 
 6 � D = 	 � < � ? 5 � S � � I � � E 	 D 5 � 
 3 � = � D 6 � � 1 � 6 � � 	 	 {Si(z0)}


 1 A 3 � � � QS � 6 	 � �9 O 6 ? 1 6 	 ? R = 6 � C9 F9 M > � � 5 � � � 
 � � 1 D A 	 
 
 1 � 6 � 2 	 	 � � 1 � � < 1

� � E � � I � 6 � 3 ? 1 6 � A 	 
 
 3 1 A � � � 5 	 > � � A � I 5 � S � � � A � E � A � =9 H � 
 
 ? � 6 � 	 Q� � 1 ? < D A � 3 1 1 ? 1 6 � A � � 	 1 5 6 	 � � � � 5 5 � � � 
 6 � � 1 5 	 1 = 	 
 3 1 5 5 < � � 3 S � Q� 	 6 ? � � R � A 5 � � � � � E � � 3 > 1 6 A � � � E � 6 4 
 � X 1 
 6 � � � � 5 	 1 � 
 6 � D = 	 � � S � 	5 1 � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 D 5 1 6 � 3 4 � � A 3 > = � 
 6 	 = 5 � 5 1 � � � 5 � ? 1 � 5 �

S 	 � 1 � I � 3 	 = 1 
 � 	 � 6 � � 1 � 6 � � 	 D R 5 � 	 A 3 > 6 � � 1 � 6 � � 	 D 
 1 A 3 � � � S � 6 	 � �9�̂ 
 6 4 S(·) : H → H � 6 � I � �̀ 1 5 	 1 I � 5 � � � � � � � � 
 6 � � 5 
 6 � � H 
 5 � � Q? � D ‖·‖ 	 z0, a0 ∈ H 9 b � A 1 ? 
 = 	 6 � 6 4 R = 6 � 	 ? 1 1 6 
 > 3 	 I � � � 3 5 � > 6 � � 1 � Q6 � � 	 > A 3 > 6 � = � 	 z0 P Γ(z0) = {zi = Si(z), i = 0,±1, . . . ,±n, . . .} R 3 	 I �5 1 � � 6 � � < D � 6 � 1 E � � � � 3 �̀ 	 6 1 3 4 5 � D � � 3 � 6 � � 1 � 6 � � 	 	 P Γ+
n (z0) = {zi =

Si(z), i = 0, 1, . . . , n} R 3 	 I � � 6 � 	 2 � 6 1 3 4 5 � D P Γ−
n (z0) = {zi = Si(z), i =

0,−1, . . . ,−n}9 �̂ 1 A � � 3 �̀ 	 ? R = 6 � � 6 � I � �̀ 1 5 	 1 S A � 
 6 � 6 � = 5 � S 3 � A Q
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� � 1 R 	 � � � � 1 
 6 5 � 
 6 	 Ozi

� �̀ A � D 6 � = � 	 zi

? �̀ 5 � � � 
 6 � � 	 6 4 3 	 5 1 � � 	 QE � 2 	 t � � 1 � � 6 � � � S P S(zi + u) = S(zi) +L(i)u+R(i)(u)9 �̂ 	 s 6 � ? A 3 >

� S � � 5 	 = 1 5 5 � S � 3 	 5 1 D 5 � S � � � 1 � � 6 � � � L(i) : H → H 	 5 1 � � 1 � < � 5 � S �

� 6 � I � �̀ 1 5 	 > R(i)(u) = S(zi + u) − S(zi) − L(i)u 5 � D A � 6 
 > � � 1 � � 6 � � <

� � � 1 � 6 	 � � � � 5 	 > P (i)
±

	 = 	 
 3 � µ(i)
−

R µ(i)
+ R r(i) > 0 6 � � 	 1 R = 6 � � � � � 1 
 6 5 � Q
 6 	 Ozi

= {u : ‖P
(i)
± (zi − u)‖ ≤ r(i)} � < � � 3 5 1 5 < 
 3 1 A � t X 	 1 � 
 3 � � 	 >S 	 � 1 � I � 3 	 = 5 � 
 6 	

A1) P
(i)
+ + P

(i)
− = I, ‖P

(i)
+ ‖ = ‖P

(i)
− ‖ = 1,

A2) L(i)
(

P
(i)
+ H

)

= P
(i+1)
+ H, L(i)

(

P
(i)
− H

)

⊂ P
(i+1)
− H,

A3) ‖L(i)w‖ ≤ µ
(i)
− ‖w‖, ∀w ∈ P

(i)
− H, µ

(i)
− < 1,

A4) ‖L(i)v‖ ≥ µ
(i)
+ ‖v‖, ∀v ∈ P

(i)
+ H, µ

(i)
+ > µ

(i)
− ,

A5) ‖R(i)(u1) −R(i)(u2)‖ < θ(i)
(

max{‖u1‖, ‖u2‖}
)

‖u1 − u2‖,

∀u1,2 : zi + u1,2 ∈ Ozi
, θ(i)(0) = 0,


 5 1 � � 1 � < � 5 � D � � 3 �̀ 	 6 1 3 4 5 � D 5 1 � I < � � t X 1 D B � 5 � 2 	 1 D θ(i)9�̂ 
 6 4 � 
 3 � � 	 > (A) � < � � 3 5 > t 6 
 > A 3 > � 
 1 � 6 � = 1 � Γn−1(z0) R n ≥ 1 R� � 
 3 � � 	 1 (A1)

� 1 � 5 � 6 � �̀ 1 	 A 3 > 6 � = � 	 zn9 �̂ 
 6 4 a0

� � 	 5 � A 3 1̀ 	 6

5 1 � � 6 � � � D � � � 1 
 6 5 � 
 6 	 Oz0

6 � = � 	 z0 R 	 E � A � 5 � � � 5 1 = 5 � ? 1 � 5 � 1 � � A Q� � � 
 6 � � 5 
 6 � � L =< e1, . . . , ei0 >9 H � 
 
 ? � 6 � 	 ? ? 1 6 � A � � 
 6 � � 1 5 	 > 6 � Q� � S � � 1 � 6 � � � u R = 6 �

u = a0 +

i0
∑

i=1

ciei, u ∈ Oz0 , ci ∈ R,

q 89 @ r

‖Si(u) − Si(z0)‖ ≤ Cqi‖u− z0‖, 0 ≤ i ≤ n, q < 1.

q 89 a r

V � ? 1 6 	 ? R = 6 � � � 
 
 ? � 6 � 1 5 5 < D A � 3 1 1 ? 1 6 � A A � � � 
 � � 1 6 1 
 6 1 
 6 � 1 5 5 � 1 E � Q? < � � 5 	 1 5 � 
 3 � = � D I 1 
 � � 5 1 = 5 � S � n R 	 � � 
 � 6 	 > � 3 > 1 6 
 > � � 5 
 6 � � � Q6 	 � 5 < ? A � � � E � 6 1 3 4 
 6 � � ? 
 � X 1 
 6 � � � � 5 	 > � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 >
W−(z0, f)9U 3 > � �̀ A � S � i = 0, . . . , n � � 
 
 ? � 6 � 	 ? � 3 � 
 
 Bγ(i)

(

O(i)
) � 
 1 � 5 1 � � 1 Q

� < � 5 < � � 6 � I � �̀ 1 5 	 D f(w) : P
(i)
− O(i) → P

(i)
+ O(i) R S A 1 O(i) = {u :

‖P
(i)
± (u)‖ ≤ r(i)} R � A � � 3 1 6 � � � > t X 	 � � 
 3 � � 	 > ? f(0) = 0, ‖f(w1) −

f(w2)‖ ≤ γ(i)‖w1−w2‖, 0 ≤ γ(i) ≤ 1.

U 3 > s 3 1 ? 1 5 6 � � Bγ(i)

(

O(i)
) � � � 1 QA 1 3 	 ? 5 � � ? � |f | = supw∈P

−
O(i) |f(w)|9 �̂ 
 6 4 B 	 � 
 	 � � � � 5 � 5 1 � � 6 � � � >

B � 5 � 2 	 > f (n)(w) ∈ Bγ(n)

(

O(n)
) R E � A � t X � > � � � � 1 
 6 5 � 
 6 	 6 � = � 	 Ozn

8 a

3 � � � 3 4 5 � 1 ? 5 � S � � I � � E 	 1

W−(zn, f
(n)) =

{

m = zn + v + w : m ∈ Ozn
,

w = P
(n)
− (m− zn), v = f (n)(w)

}

.H � 
 
 ? � 6 � 	 ? E � A � = � R 5 � E < � � 1 ? � t A � 3 1 1 è Ì Ø Ì Û Ê á (ff) R 5 � � �̀ A 1 5 	 > 6 � Q� � D B � 5 � 2 	 	 f (0) ∈ Bγ(0)

(

O(0)
) R = 6 � A 3 > � 
 > � � D 6 � = � 	 � 	 A � z0 +w+

f (0)(w) R w ∈ P
(0)
− O(0) R � < � � 3 5 > 1 6 
 > � 3 �̀ 1 5 	 1
Sn(z0 + w + f (0)(w)) ⊂ W−(zn, f

(n)).

q 89 \ rL � � I � 6 1 � � � � E � 5 � R = 6 � � � 	 5 1 � � 6 � � < � � 
 3 � � 	 > � E � A � = � (ff) � A 5 � E 5 � Q= 5 � � � E � 1 T 	 ? � R � 6 � = � 	 
 � � 6 � 1 6 
 6 � � t X 1 S � ? 5 � S � � I � � E 	 >W−(z0, f
(0))� A � � 3 1 6 � � � > t 6 5 1 � � � 1 5 
 6 � � q 89 a r 9 b � 3 1 1 6 � S � R A 3 > � � � 	 E � � 3 4 5 � S � 5 � Q= � 3 4 5 � S � � � 	 I 3 	̀ 1 5 	 > f (n) ∈ Bγ(n)

(

O(n)
) � � 	 � � 1 3 	 = 1 5 	 	 n � � 
 3 1 Q

A � � � 6 1 3 4 5 � 
 6 4 
 � � 6 � 1 6 
 6 � � t X 	 � B � 5 � 2 	 D f (0) = f (0)(n, f (n)) 
 � � A 	 6 Q
 > � B � 5 � 2 	 	 f R E � A � t X 1 D � 
 6 � D = 	 � � 1 ? 5 � S � � I � � E 	 1 W−(z0, f)9U 3 > B 	 � 
 	 � � � � 5 5 � D B � 5 � 2 	 	 f (n) I � A 1 ? 
 6 � � 	 6 4 f (0) � � 
 3 1 A � � � Q6 1 3 4 5 � E � n T � S � �9 � � � 1 � � � ? T � S 1 � � f (n) 5 � D A 1 ? B � 5 � 2 	 t f (n−1) RE � A � t X � t ? 5 � S � � I � � E 	 1 W−
(

zn−1, f
(n−1)

) R 	 E � 
 3 � � 	 > � 3 �̀ 1 5 	 >

S
(

W−(zi, f
(i))

)

⊂ W−
(

zi+1, f
(i+1)

) q 89 [ r

� � 	 i = n − 19 � � 
 3 1 A � t X 1 ? T � S 1 � � f (n−1) � � � 1 A 1 3 	 ? f (n−2) 	 E

� 
 3 � � 	 > q 89 [ r � � 	 i = n − 29 N 6 � � A � 3 1 1 A � B � 5 � 2 	 	 f (0)9 V � � 	 T 1 ?
 � � 6 � 1 6 
 6 � � t X 1 1 � 
 3 � � 	 1 q 89 [ r � � � 1 � � 6 � � 5 � D B � � ? 1 P

L(i)f (i)(w) + P
(i+1)
+

[

R(i)(f (i)(w) + w)
]

=

f (i+1)
(

L(i)w + P
(i+1)
−

[

R(i)(f (i)(w) + w)
])

.

q 89 G r

N ? 1 t 6 ? 1 
 6 � 
 3 1 A � t X 	 1 � 6 � 1 �̀ A 1 5 	 >9

Ä m k £ m n g À p ÷ p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç (A) ç ê É ã Ø Ì Ø Ë Ç × Ô É Ï è Ú É Ë ä ÙÕ É á é Ü Õ È ß Ï Ï f (i+1) ∈ Bγ(i+1)

(

O(i+1)
) Õ Ì á Ø Ê Ó Æ Ç Ó Ì È É Ê r(i) > 0 Ö Û Ó ÉÚ É È Ô Ê Æ Ó Õ É Æ Ó Ï O(i) Ô Ê ø Ê Õ Ï Ê f (i) ∈ Bγ(i)

(

O(i)
) Ü Ô Ì Ú Õ Ê Õ Ï Ç (1.6) Æ Ü ÙÒ Ê Æ Ó Ú Ü Ê Ó Ï Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ É ç Å Ê Ë Ï Û Ï Õ Ì r(i) Ð É Î Ê Ó Í à Ó ä Õ Ì á Ø Ê Õ Ì Ï è

Æ Ë Ê Ø Ü Ñ Ò Ï â Õ Ê Ô Ì Ú Ê Õ Æ Ó Ú

γ(i+1)
(

µ
(i)
− + θ(i)(r(i))(1 + γ(i))

)

+ θ(i)(r(i))(1 + γ(i))

µ
(i)
+

≤ γ(i),

q 89 : r
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(γ(i+1) + 1)θ(i)(r(i))

µ
(i)
+

= q(i) < 1.

q 89 _ r

Ä m k £ m n g À p ù p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç Ó Ê É Ô Ê Ð à ëç ú Ï é Ü Õ È ß Ï Ï

f (i) Ö f (i+1) Ü Ø É Ú Ë Ê Ó Ú É Ô Ç Ñ Ó Ü Ô Ì Ú Õ Ê Õ Ï Ñ (1.6) ç æ Ü Æ Ó ä

µ
(i)
− + θ(i)(r(i))(1 + γ(i)) = p(i) < 1.

q 89 ] rê É ã Ø Ì Ú à × É Ë Õ Ç Ñ Ó Æ Ç É ß Ê Õ È Ï

‖P
(i+1)
−

[

S(zi + f (i)(w) + w) − S(zi)
]

‖ ≤ p(i)‖w‖,
‖S(zi + f (i)(w) + w) − S(zi)‖ ≤ p(i)(1 + γ(i+1))‖w‖.

Ä m k £ m n g À p û p æ Ü Æ Ó ä Ø Ë Ç i = 0, . . . , n− 1 Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç Ó Ê É Ô Ê ÙÐ à ëç ú ç ê É ã Ø Ì Ø Ë Ç × Ô É Ï è Ú É Ë ä Õ É á é Ü Õ È ß Ï Ï f (n) ∈ Bγ(n)

(

O(n)
) Õ Ì á Ø Ê Ó Ù

Æ Ç Ó Ì È É Ê r(0) > 0 Ö Û Ó É Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ Ì Ç é Ü Õ È ß Ï Ç f (0) ∈

Bγ(0)

(

O(0)
) Ö Ü Ø É Ú Ë Ê Ó Ú É Ô Ç Ñ Ò Ì Ç Ü Æ Ë É Ú Ï Ñ Sn

(

W−(z0, f
(0))

)

⊂ W−(zn, f
(n)) ç

Ä m k £ m n g À p ü p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Ó Ú Ê Ô Î Ø Ê Õ Ï Ç Ó Ê É Ô Ê Ð ëç ú Ö ëç ý Ö ëç þ çê É ã Ø Ì Ï Ð Ê Ñ Ó Ð Ê Æ Ó É Æ Ë Ê Ø Ü Ñ Ò Ï Ê É ß Ê Õ È Ï Ý

‖P
(n)
−

[

Sn
(

z0 + f (0)(w) + w
)

− Sn
(

z0
)]

‖ ≤ ‖w‖
∏n−1

i=0 p
(i),

‖Sn
(

z0 + f (0)(w) + w
)

− Sn
(

z0
)

‖ ≤ (1 + γ(n))‖w‖
∏n−1

i=0 p
(i).

Ä m k £ m n g À p ÿ p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Ó Ú Ê Ô Î Ø Ê Õ Ï Ç Ó Ê É Ô Ê Ð ëç ú Ù ëç � ç æ Ü Æ Ó äé Ü Õ È ß Ï Ï f (0)
j ∈ Bγ(0)

(

O(0)
) Ö j = 1, 2 Ç Ú Ë Ç Ñ Ó Æ Ç Ô Ê ø Ê Õ Ï Ç Ð Ï è Ì Ø Ì Û Ï

(1.4)

Ø Ë Ç è Ì Ø Ì Õ Õ à â é Ü Õ È ß Ï á f (n)
j ∈ Bγ(n)

(

O(n)
) Æ É É Ó Ú Ê Ó Æ Ó Ú Ê Õ Õ É × Ô Ï

j = 1, 2 ç æ Ü Æ Ó ä

d(i) =
(

µ
(i)
+ − (1 + γ(i+1))θ(i)(r(i))

)−1

< 1.

q 89 8 7 rê É ã Ø Ì Ú à × É Ë Õ Ç Ê Ó Æ Ç É ß Ê Õ È Ì

|f
(0)
1 − f

(0)
2 | ≤ |f

(n)
1 − f

(n)
2 |

n−1
∏

i=0

d(i) ≤ 2r(n)
n−1
∏

i=0

d(i),

ã Ø Ê |f (i)| = sup
w∈P

(i)
−

O(i) ‖f
(i)(w)‖, i = 0, n.

�̂ 1 A 3 �̀ 1 5 5 < D � � A � � A ? �̀ 1 6 � � 	 ? 1 5 > 6 4 
 > A 3 > A � � � E � 6 1 3 4 
 6 � �


 � X 1 
 6 � � � � 5 	 > 3 � � � 3 4 5 � � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 >W−(z0, f) R � 6 � ?= 	 
 3 1 A 3 > 
 1 A 3 � � � S � 
 3 � = � >9

8 [

1̂ � 1 D A 1 ? � � 1 T 1 5 	 t E � A � = 	 R 5 � E < � � 1 ? � D A � 3 1 1 è Ì Ø Ì Û Ê á (lf) R � � � Q1 � 6 	 � � � � 5 	 > 5 � = � 3 4 5 < � � 
 3 � � 	 D a0

5 � ? 5 � S � � I � � E 	 1 W−(z0, f
(0))� A � 3 4 � � A � � � 
 6 � � 5 
 6 � � L9 �̂ � � � 1 A 1 3 1 5 	 t s 6 � � E 5 � = � 1 6 � � 
 6 � � 1 5 	 1

6 � � � S � u = a0 + l R l ∈ L R = 6 � u ∈ W−(z0, f
(0))9 K � � � 5 1 5 	 1 R 
 � � 6 � 1 6 Q
 6 � � t X 1 1 A � 5 5 � ? � � 
 3 � � 	 t R 	 ? 1 1 6 � 	 A

P
(0)
+

[

b0 + l
]

= f (0)(P
(0)
−

[

b0 + l
]

), l =

i0
∑

i=1

ciei, b0 = a0 − z0.

q 89 8 8 r

U 3 > � 1 T 1 5 	 > � � 3 � = 1 5 5 � S � � � � � 5 1 5 	 > � 6 5 � 
 	 6 1 3 4 5 � 5 1 	 E � 1 
 6 5 < � � � Qs B B 	 2 	 1 5 6 � � ci � � 	 ? 1 5 	 ? 
 3 1 A � t X 	 D 	 6 1 � � 2 	 � 5 5 < D � � � 2 1 
 
 P

P
(0)
+

[

b0 + lk+1

]

= f (0)(P
(0)
−

[

b0 + lk
]

), lk =

i0
∑

i=1

cki ei.

q 89 8 @ r

Ä m k £ m n g À p � p æ Ü Æ Ó ä é Ü Õ È ß Ï Ç f (0) ∈ Bγ(0)(O(0)) È Ì Æ Ì Ê Ó Æ Ç × É Ø × Ô É Ù

Æ Ó Ô Ì Õ Æ Ó Ú Ì P (0)
− H ç æ Ü Æ Ó ä L =< e1, . . . , ei0 > Ö Æ Ï Æ Ó Ê Ð Ì Ú Ê È Ó É Ô É Ú

{ei}
i0
1

Ë Ï Õ Ê á Õ É Õ Ê è Ì Ú Ï Æ Ï Ð Ì Ö Ï {P (0)
+ [ei]}

i0
1

É Í Ô Ì è Ü Ê Ó Í Ì è Ï Æ Ú × É Ø × Ô É Ù

Æ Ó Ô Ì Õ Æ Ó Ú Ê P (0)
+ H ç ê É ã Ø Ì Õ Ì á Ø Ê Ó Æ Ç Ó Ì È É Ê r(0) > 0 Ö Û Ó É Ø Ë Ç b0 ∈ O(0)

è Ì Ø Ì Û Ì � ëç ë ë� Ï Ð Ê Ê Ó Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ É Ê Ô Ê ø Ê Õ Ï Ê u ∈ W−(z0, f
(0)) ç ô Ë Ç× Ô É Ï è Ú É Ë ä Õ É ã É Õ Ì Û Ì Ë ä Õ É ã É × Ô Ï Í Ë Ï Î Ê Õ Ï Ç u0 = a0 + l0 Ö u0 ∈ Oz0

Ð Ê ÙÓ É Ø � ëç ë í � Æ â É Ø Ï Ó Æ Ç È u Æ É Æ È É Ô É Æ Ó ä ã Ê É Ð Ê Ó Ô Ï Û Ê Æ È É á × Ô É ã Ô Ê Æ Æ Ï Ï ç

H � 
 
 ? � 6 � 1 5 5 < D 	 6 1 � � 2 	 � 5 5 < D � � � 2 1 
 
 (1.12) � � E � � 3 > 1 6 5 � � � A 	 6 4� 1 T 1 5 	 1 E � A � = 	 (lf)9 O A 5 � � � R 1 
 3 	 	 E � 1 
 6 5 � 6 � � � > B � 5 � 2 	 > f (1) ∈

Bγ(1)(O(1)) R = 6 � S
(

W−(z0, f
(0))

)

⊂ W−(z1, f
(1)), 6 � ? �̀ 5 � � � 
 
 ? � 6 Q

� 1 6 4 E � A � = � � � � 
 6 � � 1 5 	 	 u = a0 + l 	 E � 
 3 � � 	 > S(u) ∈ W−(z1, f
(1))90 � � 6 � 1 6 
 6 � � t X 1 1 � � � � 5 1 5 	 1 	 ? 1 1 6 � 	 A

P
(1)
+

[

S(a0 + l) − S(z0)
]

= f (1)
(

P
(1)
−

[

S(a0 + l) − S(z0)
])

.

q 89 8 a rU 3 > � 1 T 1 5 	 > A � 5 5 � D E � A � = 	 � � 
 
 ? � 6 � 	 ? 
 3 1 A � t X 	 D 	 6 1 � � 2 	 � 5 5 < D

� � � 2 1 
 


P
(1)
+

[

L(0)(b0 + lk+1) +R(0)(b0 + lk)
]

=

f (1)
(

P
(1)
−

[

L(0)(b0 + lk) +R(0)(b0 + lk)
])

,

q 89 8 \ r

S A 1 lk =
∑i0

i=1 c
k
i ei R b0 = a0 − z09Ä m k £ m n g À p À � p æ Ü Æ Ó ä é Ü Õ È ß Ï Ç f (1) ∈ Bγ(1)(O(1)) È Ì Æ Ì Ê Ó Æ Ç × É Ø Ù

× Ô É Æ Ó Ô Ì Õ Æ Ó Ú Ì P (1)
− H Ö Æ Ï Æ Ó Ê Ð Ì Ú Ê È Ó É Ô É Ú {ei}

i0
1

Ë Ï Õ Ê á Õ É Õ Ê è Ì Ú Ï Æ Ï Ù
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Ð Ì Ï {P (0)
+ [ei]}

i0
1

É Í Ô Ì è Ü Ê Ó Í Ì è Ï Æ Ú P (0)
+ H ç ê É ã Ø Ì Õ Ì á Ø Ê Ó Æ Ç Ó Ì È É Ê

r(0) > 0 Ö Û Ó É Ø Ë Ç b0 ∈ O(0) è Ì Ø Ì Û Ì � ëç ë ò� Ï Ð Ê Ê Ó Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ É Ê Ô Ê ø Ê ÙÕ Ï Ê u ∈ W−(z0, f
(0)) ç ô Ë Ç × Ô É Ï è Ú É Ë ä Õ É ã É Õ Ì Û Ì Ë ä Õ É ã É × Ô Ï Í Ë Ï Î Ê Õ Ï Ç

u0 = a0 + l0 Ö u0 ∈ Oz0

Ö Ð Ê Ó É Ø � ëç ëú � Æ â É Ø Ï Ó Æ Ç È u Æ É Æ È É Ô É Æ Ó ä Ñ

ã Ê É Ð Ê Ó Ô Ï Û Ê Æ È É á × Ô É ã Ô Ê Æ Æ Ï Ï ç

�̂ 3 � = 1 5 5 < 1 � 1 E � 3 4 6 � 6 < � � E � � 3 > t 6 
 B � � ? � 3 	 � � � � 6 4 � 1 T 1 5 	 1 E � QA � = 	 (1.2), (1.3) � � � � 1 T 1 5 	 1 
 3 1 A � t X 1 S � � � � � 5 1 5 	 >

P
(n)
+ [Sn(a0 + l) − Sn(z0)] = 0, l =

i0
∑

i=1

ciei

q 89 8 [ r

� 6 5 � 
 	 6 1 3 4 5 � 5 1 	 E � 1 
 6 5 < � � � s B B 	 2 	 1 5 6 � � ci9 O 6 ? 1 6 	 ? R = 6 � A � 5 5 � 1� � � � 5 1 5 	 1 
 � � 6 � 1 6 
 6 � � 1 6 � 1 T 1 5 	 t E � A � = (ff) 	 (lf) � � 	 f (n) ≡ 09�̂ 1 A 3 �̀ 1 5 5 < 1 	 6 1 � � 2 	 � 5 5 < 1 ? 1 6 � A < � 1 T 1 5 	 > � 6 A 1 3 4 5 < � E � A � = 
 � Q
 6 � � 3 > t 6 � 
 5 � � � 
 � � 6 � 1 6 
 6 � � t X 1 S � = 	 
 3 1 5 5 � S � � 3 S � � 	 6 ? � A 3 > � � � � Q5 1 5 	 > (1.15)9 0 3 1 A 
 6 � 	 1 ? 6 1 � � 1 ? 89 G R 89 8 7 > � 3 > 1 6 
 > 
 3 1 A � t X 1 1 � 6 � 1 � QÀ 1 5 	 1 P

Ä m k £ m n g À p À À p æ Ü Æ Ó ä Ø Ë Ç i = 0, . . . , n−1 Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç Ó Ê É Ô Ê ÙÐ à ëç ú Ö Æ Ï Æ Ó Ê Ð Ì Ú Ê È Ó É Ô É Ú {ei}
i0
1

Ë Ï Õ Ê á Õ É Õ Ê è Ì Ú Ï Æ Ï Ð Ì Ï {P (0)
+ [ei]}

i0
1É Í Ô Ì è Ü Ê Ó Í Ì è Ï Æ Ú P (0)

+ H ç ê É ã Ø Ì Õ Ì á Ø Ê Ó Æ Ç Ó Ì È É Ê r(0) > 0 Ö Û Ó É Ø Ë Ç× Ô É Ï è Ú É Ë ä Õ É ã É a0 ∈ Oz0

Ô Ê ø Ê Õ Ï Ê l è Ì Ø Ì Û Ï (1.15) Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó Ï Ê Ø Ï Õ ÙÆ Ó Ú Ê Õ Õ É ç ñ Æ Ë Ï Î Ê Ø É × É Ë Õ Ï Ó Ê Ë ä Õ É Ø Ë Ç È Ì Î Ø É ã É i = 0, . . . , n − 1 Ú à Ù× É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç Ó Ê É Ô Ê Ð à ëç ý Ö Ó É ã Ø Ì a0 + l Ç Ú Ë Ç Ê Ó Æ Ç Ô Ê ø Ê Õ Ï Ê Ð è Ì ÙØ Ì Û Ï � ëç í � Ö � ëç ò� ç

H � 
 
 ? � 6 � 	 ? E � A � = � � � � 1 � 6 	 � � � � 5 	 > 5 � 3 � � � 3 4 5 � 5 1 � 
 6 � D = 	 � � 1

? 5 � S � � I � � E 	 1 W+(z0,g
(0)) =

{

m = z0 + v+w : m ∈ Oz0 , v = P
(0)
+ (m−

z0), w = g
(0)(v)

} � � � � 1 
 6 5 � 
 6 	 
 1 A 3 � � � D 6 � � 1 � 6 � � 	 	9 �̂ 
 6 4 	 E � 1 
 6 Q

5 < � � 1 � � 6 � � < L(i) R R(i) R P (i)
±

	 E � 
 3 � � 	 > (A) A 3 > 6 � = 1 � � � 3 � 6 � � Q1 � 6 � � 	 	 Γ−
n (z0)9 � � 
 	 5 6 1 � 1 
 � 1 6 ? 1 6 � A � � 	 I 3 	̀ 1 5 5 � S � � � � 1 � 6 	 � � Q� � 5 	 > 5 � = � 3 4 5 � S � � 
 3 � � 	 > a0 ∈ Oz0

5 � ? 5 � S � � I � � E 	 1 W+(z0,g
(0))� A � 3 4 � � A � � � 
 6 � � 5 
 6 � � L =< l1, . . . , li0 >9 O 6 ? 1 6 	 ? R = 6 � E A 1 
 4 	 A � Q3 1 1 � 
 6 � D = 	 � � 1 � � A � � � 
 6 � � 5 
 6 � � P (0)

− H ? �̀ 1 6 I < 6 4 I 1 
 � � 5 1 = 5 � ? 1 � Q

5 < ? R 5 � � � A � � � 
 6 � � 5 
 6 � � P (0)
+ H � � 5 1 = 5 � ? 1 � 5 �9 L < I 1 � 1 ? 5 1 � � 6 � � � 15 � = � 3 4 5 � 1 ? 5 � S � � I � � E 	 1 W+(z−n, g

(−n)) R q 69 19 � 6 � I � �̀ 1 5 	 1 g(−n)

r R 	

8 :

� � 
 6 � � 	 ? 6 � � � 1 ? 5 � S � � I � � E 	 1 W+(z0, g
(0)) R = 6 �

Sn(z−n + g(−n)(v) + v) ⊂ W+(z0, g
(0)), ∀v ∈ P

(−n)
+ O(−n).

q 89 8 G r�̂ � �̀ 1 ? R = 6 � � � 	 � < � � 3 5 1 5 	 	 5 1 � � 6 � � < � � 
 3 � � 	 D E � A � = � q 89 8 G r � � E Q� 1 T 	 ? � R 	 � 
 1 6 � = � 	 � � � 1 
 6 5 � 
 6 	 u ∈ Oz
−n

� � 	 6 > S 	 � � t 6 
 > � ? 5 � S � Q� I � � E 	 t P

dist
(

Sn(u),W+(z0, g
(0))

)

≤ Cqn, q < 1.

U 3 > � �̀ A � S � i = 0,−1 R . . . R −n � � 
 
 ? � 6 � 	 ? � 3 � 
 
 Aγ(i)

(

O(i)
) � 
 1 �

5 1 � � 1 � < � 5 < � � 6 � I � �̀ 1 5 	 D g(w) : P
(i)
+ O(i) → P

(i)
− O(i) R S A 1 O(i) = {u :

‖P
(i)
± (u)‖ ≤ r(i)} R � A � � 3 1 6 � � � > t X 	 � � 
 3 � � 	 > ? g(0) = 0, ‖g(v1) −

g(v2)‖ ≤ γ(i)‖v1 − v2‖, 0 ≤ γ(i) ≤ 1.

U 3 > s 3 1 ? 1 5 6 � � Aγ(i)

(

O(i)
) � � � 1 QA 1 3 	 ? 5 � � ? � |g| = supv∈P+O(i) |g(v)|9

�̂ 
 6 4 B 	 � 
 	 � � � � 5 � 5 1 � � 6 � � � > B � 5 � 2 	 > g(−n)(v) ∈ Aγ(−n)

(

O(−n)
) RE � A � t X � > � � � � 1 
 6 5 � 
 6 	 6 � = � 	 Oz

−n

3 � � � 3 4 5 � 1 ? 5 � S � � I � � E 	 1

W+(z−n, g
(−n)) =

{

m = z0 + v + w : m ∈ Oz
−n
,

v = P
(−n)
+ (m− z−n), w = g(−n)(v)

}

.H � 
 
 ? � 6 � 	 ? E � A � = � R 5 � E < � � 1 ? � t A � 3 1 1 è Ì Ø Ì Û Ê á (gg) R 5 � � �̀ A 1 5 	 > 6 � Q� � D B � 5 � 2 	 	 g(0) ∈ Aγ(n)

(

O(n)
) R = 6 � A 3 > � 
 > � � D 6 � = � 	 � 	 A � z−n +

v + g(−n)(v) R v ∈ P
(−n)
+ O(−n) R � < � � 3 5 > 1 6 
 > � 3 �̀ 1 5 	 1

Sn(z−n + v + g(−n)(v)) ⊂ W+(z0, g
(0)).

q 89 8 : rL � � I � 6 1 � � � � E � 5 � R = 6 � � � 	 5 1 � � 6 � � < � � 
 3 � � 	 > � E � A � = � (gg) � A Q5 � E 5 � = 5 � � � E � 1 T 	 ? � 	 � � 1 A 3 �̀ 1 5 ? 1 6 � A � < = 	 
 3 1 5 	 > g(0)(v) R ∀v ∈

P
(0)
+ O(0)9 U 3 > B 	 � 
 	 � � � � 5 5 � D B � 5 � 2 	 	 g(−n) I � A 1 ? 
 6 � � 	 6 4 g(0) � � Q


 3 1 A � � � 6 1 3 4 5 � E � n T � S � �9 � � � 1 � � � ? T � S 1 � � g(−n) 5 � D A 1 ? B � 5 � Q2 	 t g(−n+1) R E � A � t X � t ? 5 � S � � I � � E 	 1 W+
(

z−n+1, g
(−n+1)

) R 	 E � 
 3 � Q� 	 > � 3 �̀ 1 5 	 >

S
(

W+(zi, g
(i))

)

⊂ W+
(

zi+1, g
(i+1)

) q 89 8 _ r

� � 	 i = −n9 � � 
 3 1 A � t X 1 ? T � S 1 � � g(−n+1) � � � 1 A 1 3 	 ? g(−n+2) 	 E

� 
 3 � � 	 > q 89 8 _ r � � 	 i = −n+ 19 N 6 � � A � 3 1 1 A � B � 5 � 2 	 	 g(0)9V � � 	 T 1 ? 
 � � 6 � 1 6 
 6 � � t X 1 1 � 
 3 � � 	 1 q 89 8 _ r � � � 1 � � 6 � � 5 � D B � � ? 1 P

L
(i)
− g(i)(v) + P

(i+1)
−

[

R(i)(g(i)(v) + v)
]

=

g(i+1)
(

L
(i)
+ v + P

(i+1)
+

[

R(i)(g(i)(v) + v)
])

.

8 _



O 6 
 t A � 	 ? 1 1 ? 	 
 � � ? � 1 
 � � 6 5 � T 1 5 	 1

g(i+1)
(

v
)

= L
(i)
− g(i)(ṽ) + P

(i+1)
−

[

R(i)(g(i)(ṽ) + ṽ)
]

S A 1 ṽ : v = L
(i)
+ ṽ + P

(i+1)
+

[

R(i)(g(i)(ṽ) + ṽ)
]

.

q 89 8 ] r

N ? 1 t 6 ? 1 
 6 � 
 3 1 A � t X 	 1 � 6 � 1 �̀ A 1 5 	 >9

Ä m k £ m n g À p À Ã p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç (A) ç ê É ã Ø Ì Ø Ë Ç × Ô É Ï è ÙÚ É Ë ä Õ É á é Ü Õ È ß Ï Ï g(i) ∈ Aγ(i)

(

O(i)
) Ö i = −n,−n + 1, . . . ,−1 Õ Ì á Ø Ê Ó Ù

Æ Ç Ó Ì È É Ê r(i+1) > 0 Ö Û Ó É Ú É È Ô Ê Æ Ó Õ É Æ Ó Ï O(i+1) Ô Ê ø Ê Õ Ï Ê g(i+1) ∈
Aγ(i+1)

(

O(i+1)
) Ü Ô Ì Ú Õ Ê Õ Ï Ç (1.19) Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó Ï Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ É ç Å Ê Ë Ï ÙÛ Ï Õ Ì r(i+1) Ð É Î Ê Ó Í à Ó ä Õ Ì á Ø Ê Õ Ì Ï è Æ Ë Ê Ø Ü Ñ Ò Ê ã É Õ Ê Ô Ì Ú Ê Õ Æ Ó Ú Ì

(µ
(i)
− γ(i) + θ

(i)
− ((γ(i) + 1)r(i))(γ(i) + 1))

(µ
(i)
+ − θ

(i)
+ ((γ(i) + 1)r(i))(γ(i) + 1))

≤ γ(i+1).

Ä m k £ m n g À p À ó p æ Ü Æ Ó ä Ø Ë Ç i = −n, . . . ,−1 Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç Ó Ê É ÙÔ Ê Ð à ëç ë í ç ê É ã Ø Ì Ø Ë Ç × Ô É Ï è Ú É Ë ä Õ É á é Ü Õ È ß Ï Ï g(−n) ∈ Aγ(−n)

(

O(−n)
)

Õ Ì á Ø Ê Ó Æ Ç Ó Ì È É Ê r(0) > 0 Ö Û Ó É Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ Ì Ç é Ü Õ È ß Ï Ç

g(0) ∈ Aγ(0)

(

O(0)
) Ö Ü Ø É Ú Ë Ê Ó Ú É Ô Ç Ñ Ò Ì Ç Ü Æ Ë É Ú Ï Ñ Sn

(

W+(z−n, g
(−n))

)

⊂

W+(z0, g
(0)) ç

Ä m k £ m n g À p À ÷ p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Ó Ú Ê Ô Î Ø Ê Õ Ï Ç Ó Ê É Ô Ê Ð à ëç ë òç æ Ü Æ Ó äé Ü Õ È ß Ï Ï g(0)
j ∈ Aγ(0)

(

O(0)
) Ö j = 1, 2 Ç Ú Ë Ç Ñ Ó Æ Ç Ô Ê ø Ê Õ Ï Ç Ð Ï è Ì Ø Ì Û Ï

(1.17)

Ø Ë Ç è Ì Ø Ì Õ Õ à â é Ü Õ È ß Ï á g(−n)
j ∈ Aγ(−n)

(

O(−n)
) Æ É É Ó Ú Ê Ó Æ Ó Ú Ê Õ ÙÕ É × Ô Ï j = 1, 2 ç æ Ü Æ Ó ä

d(i) =

(

µ
(i)
− γ(i) + θ̄

(i)
− (1 + γ(i))

)

θ̄
(i)
+

µ
(i)
+ − θ̄

(i)
+ (1 + γ(i))

+ µ
(i)
− + θ̄

(i)
− < 1.

q 89 @ 7 r

ê É ã Ø Ì Ú à × É Ë Õ Ç Ê Ó Æ Ç É ß Ê Õ È Ì

|g
(0)
1 − g

(0)
2 | ≤ |g

(−n)
1 − g

(−n)
2 |

n−1
∏

i=0

d(i) ≤ 2r(−n)
n−1
∏

i=0

d(i),

ã Ø Ê |g(i)| = sup
v∈P

(i)
+ O(i) ‖g

(i)(v)‖, i = 0,−n.

Ä m k £ m n g À p À ù p æ Ü Æ Ó ä Ø Ë Ç i = −n, . . . , 0 Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç Ó Ê É Ô Ê Ðëç ë òÖ ëç ëú ç ê É ã Ø Ì Ø Ë Ç × Ô É Ï è Ú É Ë ä Õ É á Ó É Û È Ï u ∈ O(−n) Ú à × É Ë Õ Ç Ê Ó Æ Ç

É ß Ê Õ È Ì

dist(Si(u),W+(zi, g
(i)) ≤ qi‖P

(−n)
− u− g(−n)

(

P
(−n)
+ u

)

‖ ≤ qi2r(−n),

8 ]

qi ≤

i
∏

j=−n

µ̃
(j)
− , µ̃

(i)
− = µ

(i)
− +θ

(i)
− ((1+γ(i))r(i))+γθ

(i)
+ ((1+γ(i))r(i)) < 1.

�̂ 1 A 3 �̀ 1 5 5 < D � � A � � A ? �̀ 1 6 � � 	 ? 1 5 > 6 4 
 > A 3 > A � � � E � 6 1 3 4 
 6 � �


 � X 1 
 6 � � � � 5 	 > 3 � � � 3 4 5 � 5 1 � 
 6 � D = 	 � � S � ? 5 � S � � I � � E 	 > W+(z0,g
(z0)) R� 6 � ? = 	 
 3 1 A 3 > 
 3 � = � > 
 1 A 3 � � � D 6 � � 1 � 6 � � 	 	9H � 
 
 ? � 6 � 	 ? � 1 T 1 5 	 1 E � A � = 	 R 5 � E < � � 1 ? � D A � 3 1 1 è Ì Ø Ì Û Ê á (lg) R � � � Q1 � 6 	 � � � � 5 	 > 5 � = � 3 4 5 < � � 
 3 � � 	 D a0

5 � ? 5 � S � � I � � E 	 1W+(z0, g
(0)) � A � 3 4� � A � � � 
 6 � � 5 
 6 � � L9 �̂ � � � 1 A 1 3 1 5 	 t s 6 � � E 5 � = � 1 6 � � 
 6 � � 1 5 	 1 6 � � � S �

u = a0 + l R l ∈ L R = 6 � u ∈ W+(z0, g
(0))9 K � � � 5 1 5 	 1 R 
 � � 6 � 1 6 
 6 � � t X 1 1A � 5 5 � ? � � 
 3 � � 	 t R 	 ? 1 1 6 � 	 A

P
(0)
−

[

b0 + l
]

= g(0)(P
(0)
+

[

b0 + l
]

), l =

i0
∑

i=1

ciei, b0 = a0 − z0.

q 89 @ 8 r

U 3 > � 1 T 1 5 	 > � � 3 � = 1 5 5 � S � � � � � 5 1 5 	 > � 6 5 � 
 	 6 1 3 4 5 � 5 1 	 E � 1 
 6 5 < � � � Qs B B 	 2 	 1 5 6 � � ci � � 	 ? 1 5 	 ? 
 3 1 A � t X 	 D 	 6 1 � � 2 	 � 5 5 < D � � � 2 1 
 
 P

P
(0)
−

[

b0 + lk+1

]

= g(0)(P
(0)
+

[

b0 + lk
]

), lk =

i0
∑

i=1

cki ei.

q 89 @ @ r

W 
 3 	 � � A � � � 
 6 � � 5 
 6 � � P (0)
− H

I 1 
 � � 5 1 = 5 � ? 1 � 5 � R 6 � I � A 1 ? 
 = 	 6 � 6 4 R = 6 �

L ≡ P−H

q 	 5 � = 1 � � 
 6 � � 1 5 	 1 � = 1 � 1 A 5 � S � � 1 � 6 � � � lk+1

5 1 � 1 � 3 	 E � 1 ? � r 9L s 6 � ? 
 3 � = � 1 E � A � = 	 (lg) 	 (gg) 
 � � � � A � t 69 �̂ 
 6 4 i0 � � 5 1 = 5 � q s 6 �


 � � 6 � 1 6 
 6 � � 1 6 
 3 � = � t � � 5 1 = 5 � ? 1 � 5 � S � � � A � � � 
 6 � � 5 
 6 � � P (0)
− H)9Ä m k £ m n g À p À û p æ Ü Æ Ó ä é Ü Õ È ß Ï Ç g(0) ∈ Aγ(0)(O(0)) È Ì Æ Ì Ê Ó Æ Ç × É Ø × Ô É ÙÆ Ó Ô Ì Õ Æ Ó Ú Ì P (0)

+ H ç æ Ü Æ Ó ä L = {e1, . . . , ei0} Ö Æ Ï Æ Ó Ê Ð Ì Ú Ê È Ó É Ô É Ú {ei}
i0
1Ë Ï Õ Ê á Õ É Õ Ê è Ì Ú Ï Æ Ï Ð Ì Ö Ï {P (0)

− [ei]}
i0
1

É Í Ô Ì è Ü Ê Ó Í Ì è Ï Æ Ú × É Ø × Ô É Æ Ó Ô Ì Õ Ù

Æ Ó Ú Ê P (0)
− H ç ê É ã Ø Ì Õ Ì á Ø Ê Ó Æ Ç Ó Ì È É Ê r(0) > 0 Ö Û Ó É Ø Ë Ç b0 ∈ O(0) è Ì ÙØ Ì Û Ì � ëç í ë� Ï Ð Ê Ê Ó Ê Ø Ï Õ Æ Ó Ú Ê Õ Õ É Ê Ô Ê ø Ê Õ Ï Ê u ∈ W+(z0, g

(0)) ç ô Ë Ç × Ô É ÙÏ è Ú É Ë ä Õ É ã É Õ Ì Û Ì Ë ä Õ É ã É × Ô Ï Í Ë Ï Î Ê Õ Ï Ç u0 = a0 + l0 Ö u0 ∈ Oz0

Ð Ê Ó É Ø

� ëç í í � Æ â É Ø Ï Ó Æ Ç È u Æ É Æ È É Ô É Æ Ó ä ã Ê É Ð Ê Ó Ô Ï Û Ê Æ È É á × Ô É ã Ô Ê Æ Æ Ï Ï ç

�̂ 3 � = 1 5 5 < 1 � � 1 � � � D S 3 � � 1 ? 1 6 � A < A � 3 1 1 � � 	 ? 1 5 > t 6 
 > A 3 > � � Q
 6 � � 1 5 	 > 	 � I � 
 5 � � � 5 	 > = 	 
 3 1 5 5 < � � 3 S � � 	 6 ? � � � 1 T 1 5 	 > � � 
 
 ? � 6 � 	 Q� � 1 ? < � E � A � =9

¼ k̈ e k £ k ½ ¾ h g̈ m R 
 � 
 6 � > X 1 D 	 E A � � � � � � � S � � B � � R � � 
 
 ? � 6 � 	 Q� � 1 6 
 > E � A � = � � � � = 1 
 6 � 1 5 5 � ? � � � 1 A 1 5 	 	 6 � � 1 � 6 � � 	 D � � 3 � A 	 5 � ? 	 = 1 Q

@ 7




 � � D 
 	 
 6 1 ? < � � 	 I � 3 4 T 	 � � � 1 ? 1 5 � �9 N 
 
 3 1 A � 1 6 
 > � � � � � 
 � I � 
 6 � D Q= 	 � � 
 6 	 q 5 1 � � 1 � < � 5 � 
 6 	 
 � 1 � � � 	 
 5 	 E � r S 3 � I � 3 4 5 � S � � 6 6 � � � 6 � � � � � 	

� � E ? � X 1 5 	 	 � � E � 1 T � t X 1 S � � � 1 � � 6 � � � E � A � = 	9 �̂ 3 � = 1 5 5 < 1 � 6 � 1 � QÀ 1 5 	 > A � 3 1 1 � � 	 ? 1 5 > t 6 
 > � � 	 = 	 
 3 1 5 5 � D � � � � � � 
 	 ? � 2 	 	 S 3 � I � 3 4 Q5 � S � � 6 6 � � � 6 � � � � � E 3 	 = 5 < � 
 	 
 6 1 ?9L ° g £ g ¾ £ g ¿ m Ã p À B � � ? � 3 	 � � t 6 
 > 5 1 � I � � A 	 ? < 1 � � 5 > 6 	 > 	 	 E Q� 1 
 6 5 < 1 � 6 � 1 �̀ A 1 5 	 > R 5 1 � I � � A 	 ? < 1 � A � 5 5 � D S 3 � � 19F 5 �̀ 1 
 6 � � B0 ⊂ H 5 � E < � � 1 6 
 > B Ù × Ô Ï Ó Ç ã Ï Ú Ì Ñ Ò Ï Ð ? 5 �̀ 1 
 6 � � ?Û 0 R 1 
 3 	 � 5 � E � ? � 5 � 6 � 	 � � 	 6 > S 	 � � 1 6 � �̀ A � 1 � S � � 5 	 = 1 5 5 � 1 ? 5 � Q1̀ 
 6 � � B R 69 19 dist(St(B), B0) → 0 � � 	 t → ∞ A 3 > 3 t I � S � � S � � Q5 	 = 1 5 5 � S � ? 5 �̀ 1 
 6 � � B ⊂ H 9 V A 1 
 4 dist(B,B0) = sup
y∈B

{dist(y,B0)} R

dist(y,B0) = inf
x∈B0

‖x−y‖.

U � 3 1 1 5 � ? 6 � �̀ 1 � � 6 � 1 I � 1 6 
 > � � 5 > 6 	 1 � � � 
 Q

A � � B � � � � � 
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 6 � � Bλ

	 5 1 � � 
 6 � D

� 6 6 � � � 6 � � Mλ9 0 � X 1 
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 6 	 � 6 Q6 � � � 6 � � �Mλ R � 6 � �̀ 1 � I � � 6 5 � > � 5 1 D B � 5 � 2 	 > Ψ(λ, t, Ba) 
 � � � � 
 6 	� � 	 6 >̀ 1 5 	 > � � 6 6 � � � 6 � � �9

Ä m k £ m n g Ã p À p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç (α) ç ê É ã Ø Ìëç ñ Æ Ë Ï Ø Ë Ç ∀ε > 0 ∃δ > 0 Ó Ì È É Ê Ö Û Ó É Æ Ü Ò Ê Æ Ó Ú Ü Ê Ó Ó É Û È Ì Tλ0 ≥
Θ(λ0, ε, Ba) Ö Ú È É Ó É Ô É á Ú à × É Ë Õ Ç Ê Ó Æ Ç Æ É É Ó Õ É ø Ê Õ Ï Ê

‖S
Tλ0

λ (h) − S
Tλ0

λ0
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λ (h) − STλ
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Ä m k £ m n g Ã p Ã p æ Ü Æ Ó ä Ú à × É Ë Õ Ê Õ à Ü Æ Ë É Ú Ï Ç (α) ç æ Ü Æ Ó ä × É Æ Ë Ê Ø É Ú Ì Ó Ê Ë ä ÙÕ É Æ Ó ä É × Ê Ô Ì Ó É Ô É Ú Sλ(·) Ì Æ Ï Ð × Ó É Ó Ï Û Ê Æ È Ï Æ Ë Ì Í É Æ â É Ø Ï Ó Æ Ç Ú Ó É Û È Ê

λ0

Õ Ì Ð Õ É Î Ê Æ Ó Ú Ê Ba ç ê É ã Ø Ì Ì Ó Ó Ô Ì È Ó É Ô Mλ

Õ Ê × Ô Ê Ô à Ú Õ É è Ì Ú Ï Æ Ï Ó

É Ó λ Ú Ó É Û È Ê λ0

Ó É ã Ø Ì Ï Ó É Ë ä È É Ó É ã Ø Ì Ö È É ã Ø Ì é Ü Õ È ß Ï Ç Θ(λ, ε,Ba)Ô Ì Ú Õ É Ð Ê Ô Õ É É ã Ô Ì Õ Ï Û Ê Õ Ì × É λ Ø Ë Ç È Ì Î Ø É ã É é Ï È Æ Ï Ô É Ú Ì Õ Õ É ã É ε > 0 Ý
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Θ(λ, ε,Ba) ≤ Tε <∞.
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dist(St(u),M) ≤ ψ(t, Cdist(u,M)),
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dist(S2n0+1+t(Ba),M) ≤ Cn0+1L2n0ψ(t, r0), r0 = max
i=1,...,n

diamOi.
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+ rot
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ν + ε rot 2u
)

rot u
)

+ u · ∇u = −∇p+ f ;
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div u = 0;

u|∂Ω = 0; u(t = 0, x) = u0(x); Ω ⊂ R3,
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S A 1 x = (x1, x2, x3), u = (u1, u2, u3), ν, ε = const > 09b � A 1 ? S � � � � 	 6 4 R = 6 � B � 5 � 2 	 > g(t, x) ∈ F (T,Ω) R 1 
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ε

ν
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∫
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t2‖ rot ut‖
4
4dt+

1

2

t
∫
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t‖ut‖
2dt+

ν

2
t‖ux‖

2 +
ε

4
t‖ rot u‖4

4

≤ Φ2(u, f, t, ν, ε,Ω),
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t2‖ut‖
2 ≤ Φ4(u, f, t, ν, ε,Ω),
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2ε
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∫
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∫
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t2‖utx‖
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‖ux‖,
ε

ν
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4

}

≤ Φ2(u, f, ν, ε,Ω).
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∫
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∫
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4
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

≤ Φ5(u, f, ν, ε,Ω).
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